

Available online at http://scik.org J. Math. Comput. Sci. 7 (2017), No. 6, 995-1005 https://doi.org/10.28919/jmcs/3476 ISSN: 1927-5307

# A NEW GENERALIZATION OF CONVOLVED (p,q)-FIBONACCI AND (p,q)-LUCAS POLYNOMIALS

CAN KIZILATEŞ<sup>1,\*</sup>, NAIM TUGLU<sup>2</sup>

<sup>1</sup>Bülent Ecevit University, Faculty of Art and Science, Department of Mathematics, Zonguldak-Turkey <sup>2</sup>Gazi University, Faculty of Science, Department of Mathematics, 06500 Teknikokullar Ankara-Turkey

Copyright © 2017 Can Kızılateş and Naim Tuglu. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

Abstract. In the present paper, we define the extended convolved (p,q)-Fibonacci and (p,q)-Lucas polynomials. Then we give some formulas of mixed-multiple sums for (p,q)-Fibonacci and (p,q)-Lucas polynomials.

**Keywords:** (p,q)-Fibonacci polynomials; (p,q)-Lucas polynomials; the extended convolved (p,q)-Fibonacci and (p,q)-Lucas polynomials.

2010 AMS Subject Classification: 05A19, 11B37, 11B39.

### 1. Introduction

The (p,q)-Fibonacci and (p,q)-Lucas polynomials are recursive sequences that generalize several polynomial and number sequences defined by recurrence relations of order two, such as Fibonacci numbers, Lucas numbers, Pell numbers, Jacobsthal numbers, Fibonacci polynomials, Lucas polynomials, Chebyshev polynomials, Morgan-Voyce polynomials, Pell polynomials, Jacobsthal polynomials, among others; see Table 1. These numbers and polynomials play a fundemental role in mathematics and have numerous important applications in combinatorics,

<sup>\*</sup>Corresponding author

E-mail address: cankizilates@gmail.com

Received August 18, 2017

number theory, numerical analysis, etc. Therefore, they have been studied extensively, and various generalizations of them have been introduced.

Let p(x) and q(x) be polynomials with real coefficients. The (p,q)-Fibonacci polynomials  $U_n(x)$  are defined by

$$U_n(x) = p(x)U_{n-1}(x) + q(x)U_{n-2}(x),$$

with the initial values  $U_0(x) = 0$  and  $U_1(x) = 1$  and the (p,q)-Lucas polynomials  $V_n(x)$  are defined by

$$V_n(x) = p(x)V_{n-1}(x) + q(x)V_{n-2}(x),$$

with the initial values  $V_0(x) = 2$  and  $V_1(x) = p(x)$ .

The generating functions of the sequences  $(U_n(x))$  and  $(V_n(x))$  are

$$\sum_{n=0}^{\infty} U_{n+1}(x)t^n = \frac{1}{1 - p(x)t - q(x)t^2}, \quad \sum_{n=0}^{\infty} U_n(x)t^n = \frac{t}{1 - p(x)t - q(x)t^2}$$
$$\sum_{n=0}^{\infty} V_{n+1}(x)t^n = \frac{p(x) + 2q(x)t}{1 - p(x)t - q(x)t^2}, \quad \sum_{n=0}^{\infty} V_n(x)t^n = \frac{2 - p(x)t}{1 - p(x)t - q(x)t^2}$$

respectively.

For fundamental properties of these sequences, we refer to Lee and Asci [2], Wang [3], Horadam [19], Falcon [4], Falcon and Plaza [5], Nallı and Haukkanen [6].

p(x)	q(x)	$U_n(x)$	$V_n(x)$
x	1	Fibonacci polynomials	Lucas polynomials
2x	1	Pell polynomials	Pell Lucas polynomials
1	2x	Jacobsthal polynomials	Jacobsthal Lucas polynomials
3 <i>x</i>	-2	Fermat polynomials	Fermat Lucas polynomials
2x	-1	Chebyshev polynomials of the second kind	Chebyshev polynomials of the first kind
x	$-\alpha$	Dickson polynomials of the second kind	Dickson polynomials of the first kind
x+1	x	Delannoy polynomials	Corona polynomials

Table 1. Special cases of the (p,q)-Fibonacci and (p,q)-Lucas polynomials

The convolved Fibonacci numbers  $F_j^{(r)}$  are defined by

$$(1-x-x^2)^{-r} = \sum_{j=0}^{\infty} F_{j+1}^{(r)} x^j, \quad r \in \mathbb{Z}^+.$$

A NEW GENERALIZATION OF CONVOLVED (p,q)-FIBONACCI AND (p,q)-LUCAS POLYNOMIALS 997 If r = 1, we have classical Fibonacci numbers. Note that

$$F_{m+1}^{(r)} = \sum_{j_1+j_2+\dots+j_r=m} F_{j_1+1}\dots F_{j_r+1}.$$

These numbers have been studied in several papers [9, 10, 11, 12, 13, 14, 15, 16]. In [10, 11], Ramirez studied the convolved k-Fibonacci numbers and convolved h(x)-Fibonacci polynomials. Moreover, in [18], Sahin and Ramirez defined the convolved generalized Lucas polynomials and gave some determinantal and permanental representations of these polynomials. Recently, in [17], Ye and Zhang, studied a common generalization of convolved generalized Fibonacci and Lucas polynomials and gave some properties of these new sequences.

In this paper, we define extented convolved (p,q)-Fibonacci and (p,q)-Lucas polynomials. Then, we give some recurrence relations for these polynomials. Finally, as applications we obtain some formulas of mixed-multiple sums for (p,q)-Fibonacci and (p,q)-Lucas polynomials.

## **2.** The Extended Convolved (p,q)-Fibonacci and (p,q)-Lucas Polynomials

**Definition 2.1.** Let *r* and *m* be positive integers with  $r \ge m$ . Then the extended convolved (p,q)-Fibonacci and (p,q)-Lucas polynomials  $K_{p,q,n}^{(r,m)}(x)$  are defined by

$$\sum_{n=0}^{\infty} K_{p,q,n}^{(r,m)}(x)t^n = \frac{(p(x) + 2q(x)t)^m}{(1 - p(x)t - q(x)t^2)^r}.$$
(2.1)

We can easily see that

$$\begin{split} K_{p,q,n}^{(r,0)}(x) &= U_{n+1}^{(r)}(x), K_{p,q,n}^{(r,r)}(x) = V_{n+1}^{(r)}(x), \\ K_{p,q,n}^{(1,0)}(x) &= U_{n+1}(x), \ K_{p,q,n}^{(1,1)}(x) = V_{n+1}(x), \\ K_{1,1,n}^{(1,0)}(x) &= F_{n+1}, \ K_{1,1,n}^{(1,1)}(x) = L_{n+1}. \end{split}$$

Moreover, if we take p(x) = h(x) and q(x) = 1 in (2.1), we get

$$K_{h(x),1,n}^{(r,m)}(x) = T_{h,n}^{(r,m)}(x)$$

where  $T_{h,n}^{(r,m)}(x)$  are extended convolved h(x)-Fibonacci-Lucas polynomials in [17].

**Theorem 2.1.** For the extended convolved (p,q)-Fibonacci and (p,q)-Lucas polynomials, we have

$$K_{p,q,n}^{(r,m)}(x) = p(x)K_{p,q,n-1}^{(r,m)}(x) + q(x)K_{p,q,n-2}^{(r,m)}(x) + K_{p,q,n}^{(r-1,m)}(x),$$
(2.2)

$$K_{p,q,n}^{(r,m+1)}(x) = p(x)K_{p,q,n}^{(r,m)}(x) + 2q(x)K_{p,q,n-1}^{(r,m)}(x),$$
(2.3)

$$K_{p,q,n}^{(r,m)}(x) = \frac{n+1}{r-1} K_{p,q,n+1}^{(r-1,m-1)}(x) - \frac{2(m-1)q(x)}{r-1} K_{p,q,n}^{(r-1,m-2)}(x).$$
(2.4)

**Proof.** From the identity

$$\frac{(p(x)+2q(x)t)^m}{(1-p(x)t-q(x)t^2)^r} = \frac{(p(x)+2q(x)t)^m(p(x)t+q(x)t^2)}{(1-p(x)t-q(x)t^2)^r} + \frac{(p(x)+2q(x)t)^m}{(1-p(x)t-q(x)t^2)^{r-1}},$$

(2.2) can be obtained. From the identity

$$\frac{(p(x)+2q(x)t)^{m+1}}{(1-p(x)t-q(x)t^2)^r} = (p(x)+2q(x)t)\frac{(p(x)+2q(x)t)^m}{(1-p(x)t-q(x)t^2)^r},$$

(2.3) can be derived. From the identity

$$\frac{d}{dt}\frac{(p(x)+2q(x)t)^m}{(1-p(x)t-q(x)t^2)^r} = r\frac{(p(x)+2q(x)t)^{m+1}}{(1-p(x)t-q(x)t^2)^{r+1}} + 2q(x)m\frac{(p(x)+2q(x)t)^{m-1}}{(1-p(x)t-q(x)t^2)^r},$$

(2.4) can be obtained. Thus the proof is completed.

**Theorem 2.2.** The extended convolved (p,q)-Fibonacci and (p,q)-Lucas polynomials satisfy the following identity:

$$K_{p,q,n}^{(r+1,m)}(x) = \frac{1}{r(4q(x)+p^2(x))} \left\{ p(x)(n+1)K_{p,q,n+1}^{(r,m)}(x) + 2q(x)(2r-m+n)K_{p,q,n}^{(r,m)}(x) \right\}$$
(2.5)

**Proof.** Since

$$\begin{aligned} \frac{d}{dt} \frac{\left(p(x) + 2q(x)t\right)^r}{\left(1 - p(x)t - q(x)t^2\right)^r} &= \frac{d}{dt} \left(\frac{\left(p(x) + 2q(x)t\right)^m}{\left(1 - p(x)t - q(x)t^2\right)^r} \left(p(x) + 2q(x)t\right)^{r-m}\right) \\ &= \left(p(x) + 2q(x)t\right)^{r-m} \frac{d}{dt} \frac{\left(p(x) + 2q(x)t\right)^m}{\left(1 - p(x)t - q(x)t^2\right)^r} \\ &+ \frac{2q(x)(r-m)\left(p(x) + 2q(x)t\right)^{r-1}}{\left(1 - p(x)t - q(x)t^2\right)^r}, \end{aligned}$$

and

$$\frac{d}{dt} \frac{(p(x) + 2q(x)t)^r}{(1 - p(x)t - q(x)t^2)^r} = r \frac{(p(x) + 2q(x)t)^{r-1}}{(1 - p(x)t - q(x)t^2)^{r-1}} \frac{d}{dt} \left\{ \frac{p(x) + 2q(x)t}{1 - p(x)t - q(x)t^2} \right\}$$
$$= -2q(x)r \frac{(p(x) + 2q(x)t)^{r-1}}{(1 - p(x)t - q(x)t^2)^r}$$
$$+ r(4q(x) + p^2(x)) \frac{(p(x) + 2q(x)t)^{r-1}}{(1 - p(x)t - q(x)t^2)^{r+1}},$$

thus we have

$$\frac{2q(x)(r-m)\left(p(x)+2q(x)t\right)^{r-1}}{\left(1-p(x)t-q(x)t^{2}\right)^{r}} + \left(p(x)+2q(x)t\right)^{r-m}\frac{d}{dt}\frac{\left(p(x)+2q(x)t\right)^{m}}{\left(1-p(x)t-q(x)t^{2}\right)^{r}}$$
$$= -2q(x)r\frac{\left(p(x)+2q(x)t\right)^{r-1}}{\left(1-p(x)t-q(x)t^{2}\right)^{r}} + r(4q(x)+p^{2}(x))\frac{\left(p(x)+2q(x)t\right)^{r-1}}{\left(1-p(x)t-q(x)t^{2}\right)^{r+1}}.$$

That is

$$\frac{2q(x)(r-m)\left(p(x)+2q(x)t\right)^{m}}{\left(1-p(x)t-q(x)t^{2}\right)^{r}} + \left(p(x)+2q(x)t\right)\frac{d}{dt}\frac{\left(p(x)+2q(x)t\right)^{m}}{\left(1-p(x)t-q(x)t^{2}\right)^{r}} \\ = -2q(x)r\frac{\left(p(x)+2q(x)t\right)^{m}}{\left(1-p(x)t-q(x)t^{2}\right)^{r}} + r(4q(x)+p^{2}(x))\frac{\left(p(x)+2q(x)t\right)^{m}}{\left(1-p(x)t-q(x)t^{2}\right)^{r+1}}.$$

By comparing the coefficients of  $t^n$ , we have

$$K_{p,q,n}^{(r+1,m)}(x) = \frac{1}{r(4q(x)+p^2(x))} \left\{ p(x)(n+1)K_{p,q,n+1}^{(r,m)}(x) + 2q(x)(2r-m+n)K_{p,q,n}^{(r,m)}(x) \right\}.$$

# 3. Some Applications of Extended Convolved (p,q)-Fibonacci and (p,q)-Lucas Polynomials

The multiple sum of Fibonacci numbers have been studied several papers in [8, 20, 21]. In this section, we consider the some mixed–multiple sums for (p,q)–Fibonacci and (p,q)–Lucas polynomials by applying the recurrence relations of extended convolved (p,q)–Fibonacci and (p,q)–Lucas polynomials. Moreover, we give some special case for the mixed–multiple sums of Fibonacci, Lucas, Pell, Pell-Lucas, Jacobsthal and Jacobsthal-Lucas numbers.

From the generating functions of  $K_{p,q,n}^{(r,m)}(x)$ , we get

$$K_{p,q,n-r+m}^{(r,m)}(x) = \sum_{a_1 + \dots + a_{r-m} + b_1 + \dots + b_m = n} U_{a_1}(x) \dots U_{a_{r-m}}(x) V_{b_1+1}(x) \dots V_{b_m+1}(x).$$
(3.1)

Taking r = 2, m = 0, 1, 2 in (3.1), then we give the following theorem.

**Theorem 3.1.** For the (p,q)-Fibonacci and (p,q)-Lucas polynomials, we have

$$\sum_{a+b=n} U_a(x)U_b(x) = \frac{1}{(4q(x)+p^2(x))} \left\{ p(x)(n-1)U_n(x) + 2q(x)nU_{n-1}(x) \right\}, \quad (3.2)$$

$$\sum_{a+b=n} U_a(x) V_{b_1+1}(x) = n U_{n+1}(x), \tag{3.3}$$

$$\sum_{a+b=n} V_{a+1}(x)V_{b+1}(x) = p(x)(n+1)U_{n+2}(x) + 2q(x)nU_{n+1}(x).$$
(3.4)

**Proof.** In order to proof of theorem, we will apply (2.5), (2.3) and (2.4), respectively. Thus we have

$$K_{p,q,n-2}^{(2,0)}(x) = \frac{1}{4q(x) + p^2(x)} \left\{ p(x)(n-1)K_{p,q,n-1}^{(1,0)}(x) + 2nq(x)_{p,q,n-2}^{(1,0)}(x) \right\}$$
$$= \frac{1}{4q(x) + p^2(x)} \left\{ p(x)(n-1)U_n(x) + 2nq(x)U_{n-1}(x) \right\},$$
(3.5)

$$K_{p,q,n-1}^{(2,1)}(x) = \frac{1}{4q(x) + p^2(x)} \left\{ p(x)nK_{p,q,n}^{(1,1)}(x) + 2q(x)nK_{p,q,n-1}^{(1,1)}(x) \right\}$$
$$= \frac{1}{4q(x) + p^2(x)} \left\{ np^2(x)U_{n+1}(x) + 4nq(x)U_{n+1}(x) \right\}$$
$$= nU_{n+1}(x), \tag{3.6}$$

$$K_{p,q,n}^{(2,2)}(x) = p(x)K_{p,q,n}^{(2,1)}(x) + 2q(x)K_{p,q,n-1}^{(2,1)}(x)$$
  
=  $p(x)(n+1)U_{n+2}(x) + 2q(x)nU_{n+1}(x).$  (3.7)

Thus the proof is completed.

**Corollary 3.1.** [17, 20] *Especially, if we take* p(x) = 1 *and* q(x) = 1*, we have the following mixed-multiple sums for Fibonacci and Lucas numbers* 

$$\sum_{a+b=n} F_a F_b = \frac{1}{5} \{ (n-1)F_n + 2nF_{n-1} \},$$
$$\sum_{a+b=n} F_a L_{b+1} = nF_{n+1},$$
$$\sum_{a+b=n} L_{a+1} L_{b+1} = (n+1)F_{n+2} + 2nF_{n+1}.$$

1000

A NEW GENERALIZATION OF CONVOLVED (p,q)-FIBONACCI AND (p,q)-LUCAS POLYNOMIALS 1001 **Corollary 3.2.** Especially, if we take p(x) = 2 and q(x) = 1, we have the following mixedmultiple sums for Pell and Pell-Lucas numbers

$$\sum_{a+b=n} P_a P_b = \frac{1}{4} \{ (n-1)P_n + nP_{n-1} \},$$
$$\sum_{a+b=n} P_a Q_{b+1} = nP_{n+1},$$
$$\sum_{a+b=n} Q_{a+1} Q_{b+1} = (n+1)P_{n+2} + 2nP_{n+1}.$$

**Corollary 3.3.** Especially, if we take p(x) = 1 and q(x) = 2, we have the following mixedmultiple sums for Jacobsthal and Jacobsthal -Lucas numbers

$$\sum_{a+b=n} J_a J_b = \frac{1}{9} \{ (n-1)J_n + 4nJ_{n-1} \},$$
$$\sum_{a+b=n} J_a j_{b+1} = nJ_{n+1},$$
$$\sum_{a+b=n} j_{a+1} j_{b+1} = (n+1)J_{n+2} + 4nJ_{n+1}.$$

Taking r = 3, m = 0, 1, 2 in (3.1), then we give the following theorem.

**Theorem 3.2.** For the (p,q)-Fibonacci and (p,q)-Lucas polynomials, we have

$$\sum_{a+b+c=n} U_a(x)U_b(x)U_c(x) = \frac{1}{2(4q(x)+p^2(x))^2} \left\{ \left[ p^2(x)(n-1)(n-2) + 4q(x)(n^2-1) \right] U_n(x) - 6p(x)q(x)nU_{n-1}(x) \right\},$$

$$\sum_{a+b+c=n} U_a(x)U_b(x)V_{c+1}(x) = \frac{n-1}{2(4q(x)+p^2(x))^2} \left\{ \left( p^3(x) + 4p(x)q(x) \right) nU_{n+1}(x) + 2p^2(x) \right. \\ \left. \left. \left. \left( 3q(x) + n - 2 \right) U_n(x) + 8q(x)(n+1)U_n(x) \right\} \right. \\ \left. \left. \left. \left( \frac{12np(x)q(x)(q(x) - 1)U_{n-1}(x)}{2(4q(x) + p^2(x))^2} \right) \right\} \right\} \right\}$$

$$\sum_{a+b+c=n} U_a(x)V_{b+1}(x)V_{c+1}(x) = \frac{1}{2(4q(x)+p^2(x))} \left\{ \left[ n(n+1)p^3(x) + 2p(x)q(x)n(2n+1) \right] U_{n+1}(x) + (n+1) \left[ np^2(x)q(x) + (4n-4)q^2(x) \right] U_n(x) \right\},$$

$$\sum_{a+b+c=n} V_{a+1}(x) V_{b+1}(x) V_{c+1}(x) = \frac{1}{2(4q(x)+p^2(x))} \left\{ \left[ (n+1)(n+2)p^5(x) + p^3(x)q(x)(n+1)(7n+8) + 12n(n+1)p(x)q^2(x) \right] U_{n+1}(x) + \left[ (n+1)(n+2)p^4(x)q(x) + 6(n+1)^2p^2(x)q^2(x) + 8(n^2-1)q^3(x) \right] U_n(x) \right\}.$$

**Proof.** In order to proof of theorem, we will apply (2.5), (2.3) and (2.4), respectively. Thus we have

$$\begin{split} K_{p,q,n-3}^{(3,0)}(x) &= \frac{1}{2(4q(x)+p^2(x))} \left\{ p(x)(n-2)K_{p,q,n-2}^{(2,0)}(x) + 2q(x)(n+1)K_{p,q,n-3}^{(2,0)}(x) \right\} \\ &= \frac{1}{2(4q(x)+p^2(x))^2} \left\{ \left[ p^2(x)(n-1)(n-2) + 4q(x)(n^2-1) \right] U_n(x) \right. \\ &\left. - 6p(x)q(x)nU_{n-1}(x) \right\}, \end{split}$$

$$\begin{split} K^{(3,1)}_{p,q,n-2}(x) &= p(x)K^{(3,0)}_{p,q,n-2}(x) + 2q(x)K^{(2,0)}_{p,q,n-3}(x) \\ &= \frac{n-1}{2(4q(x)+p^2(x))^2} \left\{ \left( p^3(x) + 4p(x)q(x) \right) nU_{n+1}(x) + 2p^2(x) \times \right. \\ &\left. \left( 3q(x) + n - 2 \right) U_n(x) + 8q(x)(n+1)U_n(x) \right\} + \frac{12np(x)q(x)(q(x)-1)U_{n-1}(x)}{2(4q(x)+p^2(x))^2}, \end{split}$$

$$\begin{split} K_{p,q,n-1}^{(3,2)}(x) &= \frac{n}{2} K_{p,q,n}^{(2,1)}(x) - q(x) K_{p,q,n-1}^{(2,0)}(x) \\ &= \frac{1}{2(4q(x) + p^2(x))} \left\{ \left[ n(n+1)p^3(x) + 2p(x)q(x)n(2n+1) \right] U_{n+1}(x) \right. \\ &+ (n+1) \left[ np^2(x)q(x) + (4n-4)q^2(x) \right] U_n(x) \right\}, \end{split}$$

$$\begin{split} K_{p,q,n}^{(3,3)}(x) &= p(x)K_{p,q,n}^{(3,2)}(x) + 2q(x)K_{p,q,n-1}^{(3,2)}(x) \\ &= \frac{1}{2(4q(x) + p^2(x))} \bigg\{ \left[ (n+1)\left(n+2\right)p^5(x) + p^3(x)q(x)\left(n+1\right)\left(7n+8\right) \right] U_{n+1}(x) \\ &+ 12n(n+1)p(x)q^2(x)U_{n+1}(x) + (n+1)(n+2)p^4(x)q(x)U_n(x) \\ &+ \left[ 6(n+1)^2p^2(x)q^2(x) + 8(n^2-1)q^3(x) \right] U_n(x) \bigg\}. \end{split}$$

1002

A NEW GENERALIZATION OF CONVOLVED (p,q)-FIBONACCI AND (p,q)-LUCAS POLYNOMIALS 1003 **Corollary 3.3.** [17, 20] *Especially, if we take* p(x) = 1 *and* q(x) = 1, we have the following mixed-multiple sums for Fibonacci and Lucas numbers

$$\sum_{a+b+c=n} F_a F_b F_c = \frac{1}{50} \left\{ (5n^2 - 3n - 2)F_n - 6F_{n-1} \right\},$$
$$\sum_{a+b+c=n} F_a F_b L_{c+1} = \frac{1}{10} (n-1) \left\{ nF_{n+1} + 2(n+1)F_n \right\},$$
$$\sum_{a+b+c=n} F_a L_{b+1} L_{c+1} = \frac{1}{10} \left\{ (5n^2 + 3n)F_{n+1} + (5n^2 + n - 4)F_n \right\},$$
$$\sum_{a+b+c=n} L_{a+1} L_{b+1} L_{c+1} = (n+1) \left\{ (2n+1)F_{n+1} + \frac{3}{2}nF_n \right\}.$$

**Corollary 3.4.** Especially, if we take p(x) = 2 and q(x) = 1, we have the following mixedmultiple sums for Pell and Pell-Lucas numbers

$$\sum_{a+b+c=n} P_a P_b P_c = \frac{1}{128} \left\{ (8n^2 - 12n + 4)P_n - 12nP_{n-1} \right\},$$

$$\sum_{a+b+c=n} P_a P_b Q_{c+1} = \frac{n-1}{8} \left\{ nP_{n+1} + (n+1)P_n \right\},$$

$$\sum_{a+b+c=n} P_a Q_{b+1} Q_{c+1} = \frac{1}{16} \left\{ (16n^2 + 12n)P_{n+1} + (n+1)(8n-4)P_n \right\},$$

$$\sum_{a+b+c=n} Q_{a+1} Q_{b+1} Q_{c+1} = (7n^2 + 15n + 8)P_{n+1} + (3n^2 + 6n + 8)P_n.$$

**Corollary 3.5.** Especially, if we take p(x) = 1 and q(x) = 2, we have the following mixedmultiple sums for Jacobsthal and Jacobsthal -Lucas numbers

$$\sum_{a+b+c=n} J_a J_b J_c = \frac{1}{162} \left\{ (9n^2 - 3n - 6)J_n - 12nJ_{n-1} \right\},$$

$$\sum_{a+b+c=n} J_a J_b j_{c+1} = \frac{1}{54} \left\{ (n-1) \left( 3nJ_{n+1} + (6n+8)J_n \right) + 8nJ_{n-1} \right\},$$

$$\sum_{a+b+c=n} J_a j_{b+1} j_{c+1} = \frac{1}{18} \left\{ (9n^2 + 5n)J_{n+1} + (n+1)(18n - 16)J_n \right\},$$

$$\sum_{a+b+c=n} j_{a+1} j_{b+1} j_{c+1} = \frac{1}{18} \left\{ \left( 63n^2 + 81n + 18 \right) J_{n+1} + (90n^2 + 54n - 36)J_n \right\}.$$

**Corollary 3.6.** *Especially, if we take* p(x) = 1 *and* q(x) = 2*, we have the following mixedmultiple sums for Jacobsthal and Jacobsthal -Lucas numbers* 

$$\sum_{a+b+c=n} J_a J_b J_c = \frac{1}{162} \left\{ (9n^2 - 3n - 6)J_n - 12nJ_{n-1} \right\},$$

$$\sum_{a+b+c=n} J_a J_b j_{c+1} = \frac{1}{54} \left\{ (n-1) \left( 3nJ_{n+1} + (6n+8)J_n \right) + 8nJ_{n-1} \right\},$$

$$\sum_{a+b+c=n} J_a j_{b+1} j_{c+1} = \frac{1}{18} \left\{ (9n^2 + 5n)J_{n+1} + (n+1)(18n - 16)J_n \right\},$$

$$\sum_{a+b+c=n} j_{a+1} j_{b+1} j_{c+1} = \frac{1}{18} \left\{ \left( 63n^2 + 81n + 18 \right) J_{n+1} + (90n^2 + 54n - 36)J_n \right\}.$$

### **Conflict of Interests**

The authors declare that there is no conflict of interests.

#### REFERENCES

- [1] R.Graham, D. Knuth, K. Patashnik, O. Concrete Mathematics, Addison Wesley, 1989.
- [2] G. Lee, M. Asci, Some properties of the (p,q)-Fibonacci and (p,q)-Lucas polynomials, J. Appl. Math., (2012), Art. ID 264842.
- [3] J. Wang, Some new results for the (p,q)-Fibonacci and Lucas polynomials, Adv. Differ. Equ., 2014 (2014), Article ID 64.
- [4] S. Falcon, On the k-Lucas numbers, Int. J. Contemp. Math. Sci., 6 (21–24) (2011), 1039–1050.
- [5] S. Falcon, Plaza A. On the Fibonacci k-numbers, Chaos Solitons Fractals., 32(5) (2007), 1615–1624.
- [6] A. Nalli, P. Haukkanen, On generalized Fibonacci and Lucas polynomials, Chaos Solitons Fractals., 42 (5) (2009), 3179–3186.
- [7] G.V. Milovanovic, G.B. Djordjevic´, On some properties of Humbert's polynomials, Fibonacci Quart., 25(4) (1987), 356–360.
- [8] P.A. He, Z.Z. Zhang, The computational formulas on the multiple sum of generalized Lucas sequences, Fibonacci Quart., 40 (2) (2002), 124–127.
- [9] V.E. Hoggatt Jr., M. Bicknell-Johnson, Fibonacci convolution sequences, Fibonacci Quart., 15 (2) (1977), 117–122.
- [10] J. Ramirez, Some properties of convolved k-Fibonacci numbers, ISRN Comb., 2013 (2013), Article ID 759641.
- [11] J. Ramirez, On convolved generalized Fibonacci and Lucas polynomials, Appl. Math. Comput., 229 (2014), 208–213.

A NEW GENERALIZATION OF CONVOLVED (p,q)-FIBONACCI AND (p,q)-LUCAS POLYNOMIALS 1005

- [12] P. Moree, Convoluted convolved Fibonacci numbers, J. Integer Seq., 7(2) (2004), Article 04.2.2.
- [13] G.Liu, Formulas for convolution Fibonacci numbers and polynomials, Fibonacci Quart., 40(4) (2002), 352– 357.
- [14] AF. Horadam, Mahon JM. Mixed Pell polynomials, Fibonacci Quart., 25(4) (1987), 291–299.
- [15] Jr V.E.Hoggatt, Convolution triangles for generalized Fibonacci numbers, Fibonacci Quart., 8(2) (1970), 158–171.
- [16] W. Wang, H. Wang, Some results on convolved (p,q)-Fibonacci polynomials, Integral Transforms Spec. Funct., 26 (5) (2015), 340–356.
- [17] X. Ye, Z. Zhang, A common generalization of convolved generalized Fibonacci and Lucas polynomials and its applications, Appl. Math. Comput., 306 (2017), 31–37.
- [18] A. Sahin, J. Ramirez, Determinantal and permanental representations of convolved Lucas polynomials, Appl. Math. Comput., 281 (2016), 314–322.
- [19] A. F. Horadam, Extension of a synthesis for a class of polynomial sequences, Fibonacci Quart., 34 (1)(1996), 68–74.
- [20] W. Zhang, Some identities involving the Fibonacci numbers, Fibonacci Quart., 35 (3) (1997), 225–229.
- [21] Z. Zhang, X. Wang, A note on a class of computational formulas involving the multiple sum of recurrence sequences, Fibonacci Quart., 40 (5) (2002), 394–398.